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21
NaCl Cl: HCI Cl> HCI
Cl HCI 0.3mM  H2SO04
0.042mM  (NH4)2S04 Chk 10mM KOH 041mM
NaHSOs
2.2 NaCl
NaCl 100
500,750 1000 0.5L/min
HCI Chk 15mL 30
25mL Cl
1
run NaCl(mol/l) MSO,(mol/l)  M(NO3),(mol/l) M uL)
Na* 1 01 0.0 Zn,Cu,Fe 100
NaCl 2 0.1 0.05 Zn,Cu,Fe 100
3 0.1 0.1 Zn,Cu,Fe 100
4 0.1 0.01 Zn,Cu,Fe 100
cl 5 0.1 0.05 Zn,Cu,Fe 100
6 0.1 0.1 Zn,Cu,Fe 100
NaCl 7 0.1 100
8 0.1 Zn,Cu,Fe 100
(M=Cu, Fe, Zn) 9 0.1 Zn,Cu,Fe 100
1 1
23
0.59 ® 60% 5ml  40% 2ml 50%
150 50ml
/
< > \ /
air H -
|
trap H,SO4(1+1) 100mL 30%NaOH 100mL 100mL 15mL 15mL



3.

3.1 NacCl (run?7)
NacCl run? HCI,Cl2
3.2 NacCl (runl-6)
NaCl HCI Clz amol 2
2. HCI Cl2
HCl(umol) Cl, pmol) HCI(umol) Cl, pmol)
run 500 750 1000 500 750 1000 run 500 750 1000 500 750 1000
Znso, 1 011 074 084 ND 059 057 zn NO,, 4 010 051 098 024 036 081
2 049 11 1.7 037 1.0 1.2 5 060 038 1.0 055 087 0093
3069 12 24 043 1.2 1.6 6 074 088 1.9 061 1.1 1.8
cuso, 1 055 11 2.9 019 043 08L CuNO; 4 008 029 15 019 028 1.2
2 1.1 2.0 3.2 068 1.2 1.6 ) 5 033 08 20 061 11 1.3
3 1.6 2.1 3.3 071 14 1.6 6 042 091 27 0.67 11 1.9
FeSO, 1 037 044 43 024 043 089 FeNOz;; 4 026 021 21 036 034 1.1
2 1.2 2.0 5.4 055 093 1.6 5 053 13 28 094 09 1.8
3 1.8 4.2 6.9 093 14 2.3 6 1.1 1.8 48 1.70 1.8 2.4
7 ND ND ND ND ND ND
HCI, Cl2
NacCl
HCI,Cl: Fe Cu Zn
HCI Cl2 de novo
2) NacCl
Cu 0.048 Fe 1.8 Zn 0.15 mglg Fe
3.3 (rung,9)
run8,9 Cl
runl 6
NacCl
34 (MCl)

2NaCl(s)+MSO0a4(s)=MClIz(s)+Na2S0a(s)
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